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1) 7 hundreds, 12 t+ens, 12 ones
2) Il hvndreds, Il tens, Il ones

4) %256 — 7145, §256 - 6589, 8003 - 6007
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As the pictvre shows, we changed
| thousand fer 9 hvndreds, 9 tems, and O ores
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6) (3A,p29-33) for the problems with chip models drawn

L unthdla'y\%a_m % 8 uvnbundle a ten, Trew a hundred,

%% 3 VV\bVV\d”V\%A hvindred Thew a thousand -

%y vnbundling a Thousand ¥ |0 REGROVPING ACROSS ZERDS

¥ ¢ vnbundle a tew, Then o Exchavge | Thousand for

hvnd red A hvndreds, 4 tews, and |0 ores
X |3 First RESROUP ACROSS A ZEROD
Change. | hundred for q tens and |[Doves
Tl'ww unbvv\dle a Trhous

8) SAM is simply subtraching the SMALLER digit fraom Tre LAREER
d.%d- in each colvmn (wiThout caring Which humber Tv\e digits

JuLle didn't reduce The number of tens fowm ‘o' 4o q

when she vanbundled | few for [0 oves
Al+ewmjxve! | hundred is exchang&ol LHr A tens and (O oven
TJvlie lnwrred‘l\( lef+ Twhis as |0 tewns and (0 ores

FFANK,S main mstake s he vnbundled | hvndred as [0 ores
ihstead of [0 tens.



